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Section 1: Multiple Choice Questions {60 marks, 3 marks for each question. Please
select the best answer.)

1. Which of the following statements is generally not true for an investor who faces
unlimited liability on an investment?
(A} The investor owns stock in the firm.
(B) The investor has no partners.
(C) The investor is subject to double taxation.
(D) The investor is responsible for managing the firm.

2. Which of the foliowing is not typically considered a function of financial
intermediaries?
(A) Providing a payment mechanism.
(B) Investing in real assets.
(C) Accumulating funds from smaller investors.
(D) Spreading or peoling risk among individuals.

3. Which of the following statements about net working capital (NWC) is correct?
(A) NWCis positive for all firms.
{(B) As NWC decreases, potential liquidity increases.
(C) NWC excludes inventory, which is deemed illiquid.
(D} Decreases in NWC can increase the firm’s risk.

4. Which of the following is the least effective measure of operating performance?
(A) ROC. -
(B) ROA.
(C} ROE.
{D) All of these are equally ineffective measures of operating performance.

5. How much interest is earned in just the third year on a $1,000 deposit that earns
7% interest compounded annually?
(A} $70.00
(B) $80.14
(C) $105.62
(D)} $140.00

6. What price would you expect to pay for a stock with 13% required rate of return,
4% rate of dividend growth, and an annual dividend of 52.50 which will be paid
tomorrow?

(A} $27.78
(B) $30.28
(C) $31.10
(D) $31.39
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7. Aproject with an IRR that is less than the opportunity cost of capital should be:
(A) " Accepted for all project types.
(B) Accepted for all lending projects.
(C) Accepted for all borrowing projects.
(D) Rejected for all projects.

8. At current prices and a 13% cost of capital, a project’s NPV is $100,000. By what
minimum amount must the initial cost of the project decrease (revenues will be
unchanged) before you would wait 2 years to invest?

(A) $21,685
(B} $26,000
(C) s$27,690
(D) $29,380

9. What is the maximum percentage of variable costs in relation to sales that a firm
having a 30% tax rate could experience and still break even with $5 million revenue,
$1 million fixed costs, and $500,000 depreciation?

(A) 30%
(B) 70%

(C}) 80%

(D) 90%

10. What is the book value per share of equity for a firm with $1 million in net common
equity, $50,000 in authorized share capital, 25,000 shares issued, and 20,000 shares
outstanding?

(A) $38.00
(B) $40.00
(C) $47.50
(D) $50.00

11. if a corporation’s management, with its superior knowledge of proposed
investments, considers a security issue to be underpriced, it may react by:
(A) Forgoing the security issuance and investment.
(B) Lowering the price of the existing shares to equal the new shares.
{C) Increasing the number of shares to be sold.
(D) Adopting shelf registration, which automatically raises the issue price.

12.What is the expected return on equity for a firm with a 14% expected return on
assets that pays 9% on its debt, which totals 30% of assets? ignore tax.
(A) 16.14%
(B} 17.00%
(C) 19.00%
(D) 25.67%
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13. How much should an investor pay now for a stock expected to sell for $30 one year
from now if the stock offers a $2 dividend, dividends are taxed at 40%, capita! gains
are taxed at 20%, and a 15% after-tax return is expected on the investment?

(A} $25.04
(B} $26.53
(C) $27.09
(D} $27.50

14.Which of the following is not typically a characteristic of commercial paper
borrowing?
(A) Maturity is short-term.
(B} Banks are not the lenders.
(C} Theloans are secured.
{D) Borrowers have high credit quality.

15.What happens to the implied interest rate on trade credit as the time interval
between the discount period and the payment period is decreased?
{A} The rate declines.
(B) The rate increases.
{C) The rate remains constant.
(D} Itisimpossibie to predict without knowing the length of the discount period.

16. Which of the following is not a method of changing the management of a firm?
(A} Proxy contest.
(B) Merger and acquisition.
{C) LBO.
(D) MBO.

17.The following information is provided to you:
Spot exchange rate for Swiss franc = $0.61/SFr
One year forward rate for Swiss franc = $0.63/SFr
One year U.S. interest rate =5%
What is the 1-year interest rate for the Swiss franc?
(A) 2.00%
(B) 1.67%
{C) 1.50%
(D) 1.33%

18.it is May 19 and you own a June, European call on ABC Corp. with an exercise price
of $50, The option trades at 540 and ABC is trading at $86. What should you do?
{(A) Exercise the option now and take the profits.
(B) Buy more options on ABC Corp.
(C) Sell your ABC stock before its price declines.
(D) Sit and wait until the June expiration.
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19.The customary delivery procedure at the expiration of a commodity futures
contract is:
(A) Delivering the commodity to the futures buyer.
(B} Delivering the commodity to the futures exchange.
(C) Offsetting the initial futures position and settling in cash.
(D) Adding the profit or loss to the margin account and continuing to trade.

20. Regarding board size, researchers have found that:

(A} Smaller boards are associated with greater firm value and performance, since
small groups make better decisions than larger groups.

(B) Smaller boards are associated with lower firm value and performance, since
small groups are more likely to be compromised by connections to
management.

(C) Larger boards are associated with greater firm value and performance, since
larger boards tend to have directors with a more diverse range of
backgrounds and talents.

(D) Larger boards are associated with lower firm value and performance, since
larger groups are more likely to be compromised by connections to
management.

Section 2: Problems (40 marks. Show your work for full credit and for part marks.)

1. (This question is worth 15 marks in total.) XYZ Corp. has the following financial
statements, Assume that XYZ’s assets are proportional to its sales.

Income Statement, 2014
Sales $950
Costs $250
Interest S50
Taxes $150
Net Income S500
Balance Sheet, Year-End
2013 2014 2013 2014
Assets 52,700  $3,000 Debt $900 $1,000
Equity $1,800 52,000
Total $2,700  $3,000 Total $2,700 $3,000

{A) Find XYZ’s required external funds if it maintains a dividend payout ratio of
70% and plans a growth rate of 15% is 2015. Assume that XYZ has no spare
capacity.

(B) if XYZ chooses not to issue new shares of stock, what variable must be the
balancing item? What will its value be? '

{C) Now suppose that the firm plans instead to increase long-term debt only to
$1,100 and does not wish to issue any new shares of stock. Why must the

~ dividend payment now be the balancing item? What will its value be?



B L F E K2 104 2 5 F B LR L F KA
LR M AR S

#B  MBEE

G

%57

. (This question is worth 10 marks in total) Compare the price sensitivity to

changes in interest rates for the following bonds: A five-year and a ten-year bond,
both with a 7% annual coupon. Both bonds currently seli at par. The face vaule of
each bond is $1,000.
(A) How much will the price of each bond change if interest rates increase to 8%?
{B) Why is there a difference in the price change?

. (This question is worth 5 marks.) A bond that pays coupons annually is issued

with a coupon rate of 7%, maturity of 5 years, and a yield to maturity of 4%. The
face vaule of the bond is $1,000. What rate of return will be earned by an investor
who purchases the bond and holds it for 1 year if the bond’s yield to maturity at
the end of the year is 6%?

(This question is worth 10 marks in total) DEF Corp. is proposing to go public,
and you are going to estimate the value of its equity. The management team plans
to maintain debt at 30% of the company’s present value, and you believe that at
this capital structure the company’s debtholders will demand a return of 6% and
stockholders will require 11%.

The company is forecasting that next year’s operating cash flow {depreciation
plus profit after tax at 40%) will be $68 million and that investment expenditures
will be $30 million. Thereafter, operating cash flows and investment expenditures
are forecast to grow by 4% a year.

(A} What is the total value of DEF Corp.?

(B} Whatis the value of the company’s equity?

£ LR
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Present Value of $1:

Present Value of an Ordinary Annuity of 51






